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Use the remainder theorem to evaluate a polynomial for a given input value
+ Use the factor theorem to determine if a linear binomial is a factor of a larger
polynomial
- Determine all real zeros of a polynomial given a factor

Background - The Remainder Theorem

The remainder obtained in the synthetic division process has an important
interpretation, as described in the Remainder Theorem.

The Remainder Theorem (See the proof on page 180.)
If a polynomial f(x) is divided by x — k, the remainder is
r = f(k).

The Remainder Theorem tells you that synthetic division can be used to
evaluate a polynomial function. That is, to evaluate a polynomial function f(x)
when x = k, divide f(x) by x — k. The remainder will be f(k).
Example: Use the Remainder Theorem to evaluate the following function at x = —2.
flx) =32 + 82+ 5x — 7
Solution
Using synthetic division, you obtain the following.
-2 13 8 5 -1

-6 -4 =2
3 2 1 -9

Because the remainder is r = —9, you can conclude that
f(-2) = -9. r=f

This means that (—2, —9) is a point on the graph of f. You can check this by
substituting x = —2 in the original function.

Check
f(=2) = 3(=2P + 8(~2 + 5(-2) -
= 3(-8) + 8(4) — 10 — 7
=-244+32-10-7=-9
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Background - The Factor Theorem

Another important theorem is the Factor Theorem. This theorem states that
you can test whether a polynomial has (x — k) as a factor by evaluating the
polynomial at x = k. If the result is 0, (x — k) is a factor.

A polynomial f(x) has a factor (x — k) if and only if f(k) = 0.

Example: Show that (x — 2) and (x + 3) are factors of
f) = 2x* + Tx3 — 4x2 — 27x — 18.
Then find the remaining factors of f(x).

Algebraic Solution
Using synthetic division with the factor (x —2), you
obtain the following.
2|2 7 =4 =27 -—18
4 22 36 18
2 11 18 9 0 —-= 0 remainder;

(x — 2)is

a factor.

Take the result of this division and perform synthetic
division again using the factor (x + 3).

-3 2 11 18 0
-6 -—-15 -9
2 5 3 0_ — () remainder;
- e (x + 3)is
22+ 5x+ 3 a factor.

Because the resulting quadratic factors as
2+ 5x+3=2x+3)x+1)

the complete factorization of f(x) is
f(x) = (x = 2)(x + 3)(2x + 3)(x + 1).

irUsiﬂg the Remainder in Synthetic Division
In summary, the remainder r, obtained in the synthetic division of f(x) by
x — k, provides the following information.

1. The remainder r gives the value of fat x = k. That is, r = f(k).

2. If r = 0, (x — k) is a factor of f(x).

3. If r = 0, (k, 0) is an x-intercept of the graph of f.




Lesson 1.14 - The Remainder and Factor Theorems

Practice In Exercises 35-38, use the Remainder Theorem and
synthetic division to evaluate the function at each given
value. Use a graphing utility to verify your resuits.

5 f)=2—Tx+3
@ 1) ® -2 © £ @ f2)

3. gx) =285+ 34 —x2+3
(@) g2) () g(1) (c) g(3) (@ g(-1)

3. h(x) =2 — 52 -Tx+4
@@ h(3) () K(2) (c) h(-2) (d) h(-5)



ol

+ = 1H1E

INCITICARTICISN AU

Practice In Exercises 39~ 42, use synthetic division to show that x is
a solution of the third-degree polynomisal equation, and use
the result to factor the polynomial completely. List all the

real zeros of the function.
Polynomial Equation Value of x P/ Eeraj
39.°2-Tx+6=0 x=2
X222 -3
i‘ ! O -1 @ »cz-fu-s -1 CK*'S)(S*I) 3
N— 8§ S ~

I 2 =3 0

40. - 28x - 48 = 0 x=-4 bos (Zovo §
| o -18 -4% =

4 le 4T = xlde-z ("‘“’)C’““) X 24.6,-2
| -4 -2 (4
41 22 - 15x2 +27x —~ 10 =0 x=3 I
5
2 -1 27 -le 2 déllsz ) =,
( -7 1o =) A% =14y 320 7 x33 S 2
a -4 a0 o AR
2 (¥-$)(*-q

State if the given binomial is a factor of the given polynomial.

N E--k-2)+k-2) 8) (' -8 -b* +626-34) = (b-7) o,
= I R IS B3 -8 - 62 3|
— 2 2 Tz.)_lwn 5 3 <56 with

! ! A I~ =¥ 6 <

9) (n* +9n° + 14n* + 50n+9) + (n+8)

=
—

10) (p* +6p° +11p2 +29p—13) = (p+5)

‘ﬂ l q 14 SO 9 -s) o ‘;- n ag -3
- =5 “H¥ -1 ._.___" =5 —30 :
{ dl
N © 5
(fn/a wo' g /lr/o nof
F:qclu/' 4&’6/



4-Th mainde ctor T
Practice
Factor each and find all zeros. One factor has been given.
2) f()=x"-x*—-14x+24; x-3

_3.J [ -l -1y ay
3 o -2%

1) f@=x>+9x>+23x+15; x+5

Sl g 22 IS
-5 -2 =it

: o2 -8
¥ 3 o
: ¥ +2x-§
X +4543 9 (x +3) (x+) (x+4) (5 -2)

3) f®)=x"+3x" - 13x* - 15x; x-3 4) fx)=x"-12x*+47x-60; x-3

3 1 3z a3 s o , By ""g"f _“22 hos
3 | & p— -
L ¢ S? o o \\?° -4 s °
)% %9x% +20 » (x-S
«3 +exieEx 2 v ($F6x4S
= ¥ (X+8) )
5) f()=x" -T2 +2x+40; x-5 6) f(x)=x>-3x*-9x+27; x-3
3] ¢ -3 -4 27
—l 3 o -27
/I o =9 O

\,Lz-‘-} = (r+3)Y%3)

10) f(x)=3x"—4x>-9x+10; x-2
2] 3 -4 -4 0@

P y _-'°

3 2 -5 0
2% 4 2% -5 = (3ebs) (<)




